On Point 1, 2nd Ed. 	Unit 2		Name: __________________

I. Vocabulary
Choose the word or phrase that best completes the sentence. 
1. Katrina has been trying to become a professional actress for years and still believes in her _______________ success.
a. ambiguous
b. eventual
c. likewise
d. evolving

2. It’s not a(n)  _______________ that crime went up shortly after the police went on strike.
a. coincidence
b. distinction
c. compensation
d. transaction

3. The teacher described several _______________ involving moral questions and asked students what they would do in those situations.
a. participants
b. leverages
c. downsides
d. scenarios

4. Studies show that playing violent video games is not _______________ of any desire to be violent in real life.
a. rigid
b. subtle
c. indicative
d. fluid

5. Although most CEOs are men, it’s becoming more common for women to be promoted to the top of the _______________ ladder.
a. hazardous
b. corporate
c. mainstream
d. eventual

II. Word Study

Choose the SYNONYM (=) or ANTONYM (<-->) for each word. 

6. Which of the following is a synonym for distinction?
a. platform
b. reward
c. criticism
d. contrast

7. Which of the following is a synonym for likewise?
a. uniquely
b. similarly
c. profitably
d. traditionally

8. Which of the following is an antonym for ambiguous?
a. clear
b. tough
c. factual
d. depressing

9. Which of the following is an antonym for evolving?
a. unrelated
b. unnatural
c. unchanging
d. unknown

10. Which of the following is an antonym for facilitate?
a. prevent
b. misunderstand
c. commit
d. approach











III. Word Study

Fill in the blanks with the correct word. 

	transaction
	hazardous
	human capital
	gig
	vice-versa



11. The band is very excited about their upcoming _________________ at a popular bar.

12. You can use the bank’s app to see every __________________ you’ve made with your credit card.

13. Managers should give honest, helpful feedback to employees, and __________________.

14. Nuclear plants produce __________________ waste that must be stored safely.

15. Immigration can be a great benefit to a country, as skilled workers add to the nation’s _________________.


IV. Critical-Thinking Skills

Read the excerpts and circle the most logical conclusion that can be drawn.

16. 
	Traditional places of employment have set working hours and limited benefits, and workers are often paid a fixed wage or salary. Compensation is usually based on the amount of time they spend at their workplace rather than on the quality of their work. Workers in the sharing economy do not typically enjoy a paid vacation, health insurance, and other benefits usually provided with full-time employment.

	a. Traditional workplaces should become more like the sharing economy.
b. Workers in the traditional economy generally are not paid enough.
c. There are some significant disadvantages to working in the sharing economy.
d. The main disadvantage of traditional workplaces is the working hours.



17. 
	Because of the fluid nature of the arrangements [in the gig economy], participants are frequently required to interact with strangers. Thus, most platforms provide features that allow participants to give transparent feedback about their experiences. Passengers using an app like Lyft can rate their drivers—and drivers can rate passengers as well. These ratings are visible to other users, encouraging good behavior and smooth interactions between participants.

	a. People should not give low ratings to drivers because it could hurt their income. 
b. The ability of gig workers and customers to rate each other is an advantage of the apps.
c. Lyft drivers have been proven superior to other drivers, thanks to the rating system.
d. Lyft is unusual in its decision to allow drivers to rate their passengers.




V. Cloze Test


The sharing economy was a new idea just a couple of decades ago, but it has now become ______(18)____. There is no doubt that it has some major advantages over the traditional economy. It provides workers with enormous flexibility, allowing them to sell their _____(19)_____ one piece at a time, using tech to connect with customers. They can set their own hours, and many can work from home or even while traveling. However, there are also serious _____(20)_____ to gig work compared with traditional jobs. Traditional workers have _____(21)_____: Their income is guaranteed, and they have a different relationship with their employers. For example, they can _____(22)_____ a job offer from another company in order to request a raise or a promotion. Career advancement generally isn’t possible for sharing economy workers.

	18.
	a. rigid
b. mainstream
c. fluid
d. subtle

	19.
	a. ownership
b. compensation
c. labor
d. transactions


	20.
	a. downsides
b. distinctions
c. representations
d. participants

	21.
	a. umbrella terms
b. scenarios
c. coincidence
d. stability


	22.
	a. leverage
b. compile
c. evolve
d. facilitate

	
	





















Answer Key

	1
	2
	3
	4
	5

	b
	a
	d
	c
	b

	6
	7
	8
	9
	10

	d
	b
	a
	c
	a

	11
	12
	13
	14
	15

	gig 
	transaction
	vice-versa
	hazardous
	human capital

	16
	17
	18
	19
	20

	c
	b
	b
	c
	a

	21
	22

	d
	a



